l)esarlptl\e Questions

Q.1 (Ex g @i Which mformatlon is needed to locate the elements in the periodic

table if you do not know its atomic number" Is atomlc mass helpful for this

purpose? : 09208001
Ans. To locate elements in the periodic table without knowing the atomic number, you
need to know the element's proporties like its atomic mass and chémical behavior.:

Atomic mass -
When elements are arranged in increasing order of their atomic mass, they show periodic

repetition of propertles e.g: Li, Na and K have increasing atomic. mass and all in Group - 1.

Chemical behavior: Co-relates with groups and periodic trends confirm an elements
position. :

Example: Transition metals in d-block show variable states. _
The atomic mass can help i in some cases éut 1 ‘ “ @@ggatomlc number
for identifying elementsO i ‘;

the perio'dic table as ele

Q. 2 (Ex
‘these'blocks helpful in studying the properties of elements? - 09208002

%ﬂ le way to locate elements in
increasing atomic number order.

y blocks of elements are present in the periodic table? Are

Ans. There are four blocks of elements in the perlodlc table: s-block, p-block d—block and

f-block. These blocks categorize elements based on their electronic configurations.

i. s-block: The elements of Group 1 (alkali metals) and Group 2 (alkaline earth metals) -
are called s-block elements because in them s-sub shell of outermost shell is being filled.

ii. p-block: The elements of Group 13 to Group 18 (except He) have outermost electrons
in the p-subshell. . '

iii. d-block: The elements of Group 3 to Group 12 have the outermost electrons in the d-
subshell. The d block elements lie between the s and p blocks.

iv. f-block: The elements of lanthanides and actinides have outermost electrons in the f-
subshell. f-block lies separate at the bottom of the periodic table. ' '

Advantage of Blocks:- @ @©m

common charactenstm@
reactivity, electronegati

- r\ N o
e 1259

chemlcal propertles By organizing elements this




- way, scientists can predict how different elemehts will-oek V@@mal reactions and
interactions. 3 é o)
Q.3 (Ex. Q.4 (iii)) Explain the yarj ing properties in the periods giving
reasons. (a)NM sk ation energy : . 09208003
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Ans. (a) Variations of Atomic Radius in Period .
When we move from left to right in a period, the size of atoms decreases generally.
Reason:- ; ' pasl
It is because as we move from lithium (Li) to neon (Ne) in the second period, we are adding
electrons to the outermost shell. The charge on the nucleus also increases from +3 to +10.
This tends to pull the electrons closer to the nucleus and hence the sizes of atoms decrease |
from lithium to neon as shown in Table. data. : '

Ato@c Raqu of Second Period Elem, %&@@

e . 5
2" period : \\L SRSl '
elements e 1\ %( g\\ﬁ\g\ Lﬁ) M . -

Atomic radii (pr) NS [ 77 [ 55 [ 13 | 1 | e

' ol e .
. (b)Variati E\l&é}l‘k Energy in Period :
As ; m left to right across a period, ionization energy generally increases.

Reasons:

~® As you move to the right, the number of protons in the nucleus increases. This increase
in nuclear charge, leading to an increase in ionization energy.

® The atomic radius decreases as you move from left to right across a period. A smaller
atomic radius means that the outermost electrons are closer to the nucleus,
experiencing a stronger attraction. This stronger attraction makes it harder to remove
an electron, thus increasing the ionization energy. | |

e When moving from left to right, new electrons are added to the same energy level
without the addition of new shells. This means that the shielding effect does not

increase significantly. As a result, the outermost electrons feel a stronger attraction
from the nucleus, which contributes to the increase in ionization energy.

ey e—.

2" period elements | Li Be | B C a0\ F | Ne
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Q.4 (Ex. Q4 (iv) W&l h phy ] elements may lead us to know what
- type of bond it , ‘ N 09208004
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Ans. The ﬁhysical properties of elements that can help us to unde stwm of bOﬁd
they will form include: : o Gt

Electronegativity: This is a meas : &ﬁ gtom attracts electrons in a
chemical bond. Two ele ] % ference in electronegativity values, are likely
to form an ionic bond., ﬁ _Sedium (Na) has low electronegativity, while chlorine
(Cl) has W - leading to the formation of NaCl. S
Ionizatio gy: Elements with low ionization energy tend to lose electrons easily and
can form cations, which is common in ionic bonds. On the other hand, elements with high
ionization energy are less likely to lose electrons and may form covalent bonds by sharing
electrons. = - i : - .
Electron Affinity: Elements with high electron affinity tend to gain electrons easily,
which is a characteristic of non-metals that often form anions in ionic bonds. _
Metallic Character: Elements that are metals typically have lower electronegativity and
low ionization energy, making them more likely to lose electrons and form metallic bonds
with other metals. | : ‘ e S S
By examining these properties, you can predict whether elements will form ionic,
covalent, or metallic bonds based on their tendency to lose, gain, or share electrons. -
Q.5 (Ex. Q4 (v)) Write down the names of four non-metals which exist in solid state at
normal temperature. ' ; 09208005

Ans. Four non-metals that exist in a solid state at normal temperature are: §§ g\\
(i) Phosphorus (P) (iii) Sulphur (S O@ '

(ii) Iodine (I) : '
Q.6 (Ex. Q4 (vi) Why da sece

“ av equal number of elements

while all other pe yin different number of elements? 09208006
Ans: Each peried e completion of a shell. Since the number of electrons to
be acco in a particular shell is fixed, the number of elements in a period is also

fixed. 2nd and 3rd periods have an equal number of elements, which is eight, is due to the
way electrons fill the available energy levels or shells around the nucleus of an atom.

274 Period : ' : -

In the 2nd period, elements fill the 2s and 2p orbitals. The 2s .orbital can hold 2 electrons
and the 2p orbitals can hold 6 electrons, making a total of 8 electrons for the 2nd period. -
3 Period ey S ' o '
Similarly, in the 3rd period, elements fill the 3s and 3p orbitals. Again, the 3s can hold 2
electrons and the 3p can hold 6 electrons, total making of 8 electrons for the 3rd period as
well. : : :

For periods beyond the 3rd, the number of elements varies because of the presence of d
and f orbitals, which can hold more electrons. As a result, those _periods can accommodate
more elements, leading to differences in the number of elements in each period.

Investigative Questions

Q.1 (Ex. Q.5 (i)) Arrangement of the elen ents in_the g a m table is a
Q. \ON, o
@ on ‘this “statement citing the

remarkable achievement - of  chemists
09208007

benefit of this table
Ans. The periodic table=s ~sichievement of chemists. This table organizes
sif atomic number, electronic configuration, and chemical

this table are numerous:

()
all the known ele %
properti N $o
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easier to understand and predict their pr
Identification of Trends: The ta

Element Organization: The periodic table organizes ele @My, making it
o Q Qe |n 0 ~f ?l‘ 3
{ 0 '1C I

Ou move across a period or down a group.

atomic size, electronegaf :
periodic table, scientists can predict the properties of

Predictive Capabiliti

undiscovered el §5 they might react with other elements. | 3
Chemi ing: It helps in understanding how elements bond with each other to form

compounds based on their electronic configurations.

- Q.2 (Ex. Qs (ii)) Both lithium and beryllium.show behavior different from rest of the

alkali and alkaline earth metals respectively. Can you think of the possible
reasons for this difference? 09208008

Ans. Lithium and beryllium exhibit different behaviors compared to the rest of the alkali and

alkaline earth metals respectively due to their unique characteristics.
Lithium (Li): : :
1. Lithium is the lightest metal in the alkali metal group.

1. Lithium has a smaller atomic size and higher ionization energy compared to other alkali

metals. - _
iii. Due to its small size and high ionization energy, lithium tends to form covalent

compounds rather than purely ionic compounds like other alkali metals.

~ B?l‘yllium (Be): : @ ©m
i

1. Beryllium is the lightest alkaline earth metal.
ar to lithium.

ii. Beryllium has a small atomic size a&d‘ high i

iii. The small size and high ionigatios r make it less reactive and less
likely to form ion@ compe ii O & dte other alkaline earth metals.

iv. Beryllium forms @ g1 pourds and exhibits amphoteric behavior, meaning it can

act as bot % a-base. : : i :
Q3 (E viodern periodic table is the amended form of the earlier table
developed by Mendeleev. Elaborate how these two tables are different from each

other. _ : 09208009
Ans. | S e |
The earlier table developed by Mendeleev and the modern periodic table have some
differences: ' ' |
. Mendeleev's Table: i
1. Mendeleev's table was based on atomic mass and chemical properties of elements.

ii. Mendeleev arranged only 63 known elements. Gaps were léft in Mendeleev's table for
undiscovered elements and he could predict the properties of these missing elements.

iii. Mendeleev's table had less organized groups and periods than in the modern periodic
table. ‘ : | '

Modern Periodic Table:

1. The modern periodic table is based on atomic number rather than atomic mass. -
1. Elements are arranged in increasing atomic number an m@m similar

: chemical properties.
iti. The modern periodic table hs pe€tiods

© organizing elements based on theirg %o
iv. The modern perio des noblk

of Mendeleev's ori

d grou

‘.

O . .
@W pS (columns) that help in

gases as a separate group, which was not part

fy trends in préperties such as
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v. The modern periodic table includes transition n etals 1

@?@@m —
defined in Mendeleev's table. @) J :

SLO Based Midiﬁm].-ll Long Questions
| : 09208010

Q1. Discuss in detall the peri “ lic table. ; :
Ans. Definition; “‘
. The hy al rows in the modern periodic table are called penods There are

seven periods in total.

Explanation:

Each period except the first starts with an alkali metal and ends at a noble gas. Each period |
also represent the completion of a shell. Since the number of electrons to be
accommodated in a part1cular shell is fixed the number of elements in a penod is also

fixed.

1st | Short 2

2nd Normal 8 s

3rd Normal |8 g

4th Long I8 o (40

5th Long - 18 ﬂ(p\ @@m
6th " | VemLo \(\ ﬂ\ (1 ﬁh\“ LA

7th amplete 23 Nl

Arrangement of Lantham '
In 6th and 7th \N ourteen elements each have been accommodated.

Because of ‘F-\E lem these two series were placed at the bottom of the periodic

tabletokeepmtina manageable and presentable from.

Lanthanides:

The first series starts after lanthanum (La=757) and is called lanthanides.

Actinides:

The second series starts after actinium (Ac = 89) and it is called actinides.

Together the elements present in these two series are also called rare earths or f-block

elements.

Q2. Discuss the groups in modern periodic table. : M 09208011

Ans. Definition: e ' A
The vertical columns present in the pen0d1c table are called groups. There are in

total eighteen groups.

Explanation:

Elements present in the group resemble one another in their chemlcal properties since they

contain the same number of electrons in their outermost shell Ele%z a group

are also called a family and each group has ajso haye-bedu\g name. The
shells guration) and other

distribution of electrons in the out

information about the gow“ﬁ% the owing Table
S .




Electronic Configuration of Elements-i l@@meﬂ

SR metals ' R ns'

- WNJ @ | Alkaline earth metals ; ns’

W 3to 12 | Transition metals ; ~ nd ns?
13 Baron Family B ns’ np’
14 Carbon family . ns*np?
15 Nitrogen family . S ns’ np’
16 Oxygen family = ns® np*
17 Halogen family ] ns’ np’
18 | Noble gas : ; ; ns? np® .

Normal Element: The groups-1 to 2 and 13 to 17 contain the normal elements. In the

normal elements all the inner shells are completely filled while the outermost shell is

incomplete. |

Transition Element: The groups 3 to 12 are called transition elements and in these
elements the inner -

sub-shells are in the process of complet1on ' ‘ =
Q3. Why the elements placed in same group show si ;* e@@m

Ans. The chemical properties el :

Ak L diad

present in their ou st ¢ 10 g\g i
have the same n n the outermost shell they are expected to show
similar chemig \iu o or Example

etal; ¥ é)lements of group 1 have one electron in their outermost shell so they
a strong tendency to use their electron forming cations. They are thus known as
electroposmve metals. These metals react vrgorously w1th water producing hydrogen and
giving alkali in the solution. '

Nag) + H:0¢) —> NaOHgg + Ha g
: Alkali
- Oxides: Oxides of these metals are also strongly basic in nature. They are readily soluble 3
in water giving alkalies : »
K20 + Hzo({:) ~—»  2KOH ()
Halides: Alkali metals also react with halogens giving halides
Nag) + Clag »  2NaCl,

‘Reactivity:The reactivity of alkali metals gradually increases down the group. .
Alkaline Earth Metal: The second group elements also show a tendency to lose both of

their outermost electrons forming dipositive ions
Mg ) : 5 Mg m

The tendency to lose electrons down &Bre grou
. atomic sizes.
Oxides: The oxide &

6 asw in nature and form alkalls in water

@ixal increase in their

nr\T\f NJo

ey —{ 130}



CaO(s) + HZO({)'

— e @O@(@\Y@
Halogens: All elements in group 17 have g%’ ion/ intheir outer shells. They
show a strong tendency ¥ s ome ‘an anion. They are called
electronegative elements. Q\;W very reactive non-metals and form salts with
metals. Hence al ogens (salt forming). Unlike alkali metals, the reactivity
of halogen s"down the group. ' ‘

Clg+2e —— 2ty

Cag+Chg—> CaCly i o :
Group16:Elements present in group 16 have ns,np® configuration in their outermost shells
so they have a tendency to accept two electrons to form a dinegative ion. Oxygen behaves
as a strong electronegative element. ' Fat

\ Oypt26 — 20%p ‘
Q4. Describe how group number relate with charge of ions? : 709208013
Ans. When we move from left to right in the periodic table the main group elements tend
to form cations having a change equal to the group number For example group 1 elements
form 1 + ions, group 2 elements forms 2 + ions and group 3 elements forms 3+ions. The
number of charges on the cations also corresponds to the number of electrons present in
their outermost shells. , | = et = '
When we move from right to left in the periodic table elements often from atexs\with a
ﬂéé @
s Teft t

negative charge equal to the number of group towards th ses,
For example, group 17 elements (which ate located i o the noble
-gases) form 1-ions. The negati ange ‘ : ¢-ions correspond to number of

i NVa
Q5. Define-Atomic Radius. What are variations of atomic radius in the periodic
table? ‘ : e : 09208014
Ans. Definition: : ~ e ‘ :

~ Atomic radius is defined as half the distance between the nuclei of the two
identical bonded atoms. - : '
Units: e : o :
It is expressed in pm (1pm = 10" m ) as well as nm (Inm = 10 m) _
For example, the distance between the nuclei of two bonded carbon atoms is 154 pm.
Half of this distance i.e. 77pm is, therefore, the radius of carbon atom. This is also called
covalent radius of carbon atom. - :
Variation of Atomic Radius in Periods: -
When we move from left to right in a period the size of atoms decreases generally
Reasons: - : : _ : : o
It is because as we go from lithium (Li) to neon (Ne) in the second peri re adding

electrons to the outermost shell. The charge op the S 4 @r@ﬁkjﬁ to +10.
This tends to pull the electrons ¢lose , “a d hetice the sizes of atoms
decreases from lithium '@Wm 4 e

wé — . {181



Atomic Radii of Second Period Ei@ptf’@m _
2nd perlod ele tsﬂ X X W[ COINO [F [ Ne

Varllc Radius i in Gredp

The atomic radii of atoms increase from top to bottom in a group.

Reasons:

It is because a new shell is being added in the successive period down the group which
1ncreases the shielding effect. ' :

\./

152 {113 |88 | 77175173 | 71 | 69 |

_Atomic Radii of First Group Elements

First Group Elements | No. Of electrons in | Atomic Radius (pm)
the Inner Shells :

Li 2 152

Na 195 - 186

K | 18 ~ 227

Rb , 36 248
Gs | e ma\ TE @M .

Q6. Define electron affinity. Why it d)ncr as a d\e\éi'ease in a group?

: - 09208015

Ans. Definition:
. Electron affinity is t o m re eased when an electron is added upinthe
* outermost she % ated'gaseous atom.

For e@@ﬁ&ﬂo] energy is released when an electron enters in the ﬂuorme atom.

Tt e =iy F(g) AH= -328kJmol™!

Variation of electron affinity in Period:
Electron affinity values are also related to the sizes of the atoms. The smaller the size of an
atom, the higher the force of attraction with which the nucleus will attract the enterlng

electron and hence higher is the value of electron affinity
: Electron Affinities of Second Period Elements

2nd periodelements | Li | Be | B | C R pnieeg

EIectrbnAfﬁnity(k_J Mok |60 L 0| 20 gL oiai) a0

Variation of electron affinity in Group

In a group the electron affinity values decrease from top to bottom because the sizes of -
atoms increase down the group.In a bigger atom, the nucleus will at “@@@lecﬁon_ with a
weaker force and hence the electron afﬁmt will al '

Note While first electron affinitie é&!
- affinity are always pési '

O

itive or zero, secord electron

‘\Jr e _ ‘ ‘%132%,



. paal

09208016
Ans. Det‘mition: :

gl he _metallic char %
_positive ions or cations ]

e

Q7. Explain metalllc character and reactlv f
é& element to lose electrons and form

Variation i

Since the 1 energy decreases down the group, the elements have increased ability
to lose electrons. For this reason both the metallic character and react1v1ty increase down
the group. :
Variation in period: ‘

As weknow from left to right in a period, the nuclear charge increases due to a gradual
increase in the number of protons in the nucleus. Owing to this the valence electrons are
pulled strongly by the nucleus making it difficult for the atoms to lose electrons. Hence the

metallic character decreases in a period from left to right. The chemical reactivity
gradually decreases as we move from left to right in a period. '
Example: Aluminium and silicon are less reactive than sodium and magnesium. This is
‘because the number of valence electrons increases, making it difficult to lose- electrons.
Moving further right in a period towards non-metals,the chemical reactivity gradually increases.

Exercise Short Question

2,
Q.1 Why was atomi
to arrange the elemen @{i%
table?
Ans. Thewmg periodic table are
arranged in-order of their increasing atomic

number because the atomic number
represents the number of protons in an atom.

- This arrangement allows elements with
similar chemical properties to be grouped
together in the same column, known as a
group or family. The atomic number
increases across each perlod from left to
right, reflecting the increase in the number of
protons.

This arrangement helps in understandmg the :
trends in physical and chemical properties of
elements and provides a systematic way to
organize and study the elements.

Q.2 What is the significance of the
word periodic? 09208018
Ans. The word "penodlc" 1n the perio

properties that elements (@
are arranged in o
o]

gasing atomic

A

L

o

(@) o

mber. ‘1 peating pattern occurs in
groups or periods, that.is why it is called the
perlod1c table.

Q.3 Why does the size of a penod

increase as we move down the perlodlc
table? 09208019

Ans. As you go down, the number of -

electronic shells increases, Addition of d-sub
shell elements or transition metals, presence
of f-sub-shell lanthanide and actrnlde cause
increase in period size.

Q.4 Ina'group, the elements have the
same number of electrons in the
outermost shell. Why is it so? 09208020

Ans. Elements in the same group have

similar chemical properties because they
have the same number of electrons in their'

outer shell. The number of ctrons in
valence shell de ment will
(5 ements

xpect calclum to be more
than sodlum" Give the reason of
your answer. 09208021

4133 p——




Ans. No, calcium less reactive than sodium
~ because the atomic size of sod@m i

larger than calcium. Moreover

one electron in its o

has two electronsimjit:

Q.6 ent has the maximum

atomi ifus and which element has the

minimum atomic radius in third period?
! 09208022

Ans. In the 3rd period, the element with the
maximum atomic radius is sodium (186 pm)
and the element with the minimum atomic
radius is chlorine (79 pm).

Q.7  Why are the most electronegative
elements present in sixth and seventh
groups? : 09208023

Ans. The most electronegative elements are
found in the sixth ( 16™) and seventh ( 17
groups, specifically oxygen and fluorine
- respectively because they have high effective
nuclear charge due to smallest atomic sizes

ch

DO

@mas a stronger
; pulls the remaining
S ¢loser to the nucleus. As a result,

the” second electron is held more tightly,

requiring more energy to remove it.

So, the increase in effective nuclear charge

after the first ionization energy makes the

second ionization energy significantly higher.
Mg — Mg"+e  AH=+ 737 KJ/mol

‘Mg’ — Mg +e  AH=+ 1450 KJ/mol
(&)

Q9  Is it possible for two metals or

two non-metals to form an ionic bond?
09208025

Ans. No, two metals cannot form ionic bond

and two non-metals also cannot form ionic

bond.

‘Two metals form metallic bond.

' _Q.10 Which element has the least value

of ionization energy and which element

has . the %gimalue of

among rest of the elements in the respfﬁtiv 1

groups. ' ' Q X@ 5 09208026

Q.8 The first ioniza S. The element with the least value of
one.

e
magnesium is less t %@
Give reasons? \ 09208024
Ans, Wl@ctmh is removed, the
magnes atom becomes a positively |

Q.11 The electronic configuration of
- the outermost shell of an element is
s’p’. Find out period number and the __
group number of the element. In which :

-block will you place this element?
09208027

Ans. Period Number: The number of
‘the period corresponds to the energy level
- of the outermost electrons. In this case,
since the p orbital is being filled, the
element is in the 2nd energy level.

Therefore, the period number is 2. &
Group  Number: The group n e % (
this

_determined by the n
electrons in the otite
: ~\[] E\

kA <130

Practice Exercise Questions

s

ionization energy is caesium (377 KJ/mol),

and the element with the highest value of

electronegativity is fluorine (4.0).

case, there are total 5 valence electrons 2
from the s orbital and 3 from the p orbital).
Elements with 5 valence electrons are
typically found in Group 15 (also known as
Group VA) of the periodic table. :

Block: The element with the electronic
configuration ns2 np? will be placed in the p-
block of the periodic table. Elements in the
p-block have their outermost electrons in

is in Period-2, Group-15
' and belongs to the p-block of
the periodic table.

th bital. ~
T}fefeorl%glﬁyhe electron
t
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Q.12 What is the group of the
element having eight electrons in
outermost shell? In which phy %
state does this element e 9708028

Ans. Having ei 1§ ns '\ if
outermost s ] s that the element
is in Group 18 of the periodic table, also
known as the Noble Gases group.
Elements in Group 18 have a completely
filled outermost.shell, making them stable
and unreactive.

As for the physical state in which this
element exists, elements in Group 18 are
known as Noble Gases, and they exist as
gases at room temperature and pressure.

Q.13 An element belongs to sixth
group and it is a gas. To which perlod
does it belong" ' 09208029

Ans. The element belonging to the .
6™group will be in Period 2 of the periodic
table. :

Q.14 Baruim (Ba) is present in
group and 6% period. .

following questions abou ‘

i. Isita “metal?

Ans. Bari etal. :

ii. Will it be electropositive or
electronegative?

Ans. Barium is electropositive i in nature

iii. What is the nature of its oxide? -

Ans. Barium oxide is basic oxide.

iv. In which physical state you expect
this element to exist?

Ans. Barium is expected to exist in a solid

state at room temperature and pressure.

q@' period you

n element with the

atomic radius? 09208031
Ans. You would expect to find an element
with the largest atomic radius in Group 1

_and Period 7 of the periodic table.
Q.16 Can you predict the group

number of the most electropositive and

_the most electronegative elements?

09208032

Ans. The most electroposmve element is
found in. Group 1 and the most
electronegative element is found in Group
17 of the periodic table. :

Q.17 Choose among the following the
element having the lowest ionization
energy and the element with highest

electron affinity. Also assign its group

number and. period number

i, K, O,

Potassium (K) is in Group 1 and Period 4.
Fluorine (F) is in Group 17 and Period 2.
Q.18 Which two elements of the
periodic table react to give: 09208034
i. A basic oxide and
ii. An acidic oxide?
i. Sodium oxide (Na,O) is formed when
sodium reacts with oxygen.
4 NE? 5 02—> 2 Na,O
ii. Sulphur d10x1de (882) is formed when
sulphur burns in the presence of oxygen.
St 04> 507,
So, sodium produces a basic oxide, while
sulphur produces an acidic oxide.

a o@t@@ lowest |
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Modern Periodic L.bte

- Q.19 Define perw@i '

ar anged

Ans. The el e

accordin - g order of their
atomi s. From Tleft to right in a
horizontal row, properties of elements
are found repeating after regular
intervals. This results in the form of a
table in which elements of similar

propertles are placed in the same vertical
columns. -

Q.20 What do you mean by groups and
periods in the Periodic Table? 09208036

Ans. Groups: Vertical columns in the

periodic table are called groups. They are
studied from top to bottom. There are 18
groups in the periodic table.

Periods: Horizontal rows in the periodic
table are called periods. They are studied
from left to right. There are 7 pe od@m

the periodic table.
@@ame in

Q.21 Why the pr
09208037

are different i

group?

Ans. modern periodic table, the
electronic configuration of the elements
continues changing when we move from
left ‘to right in period. Due to this, the

elements in a period show a gradual -
in the properties while the

change
elements in a group show similar
properties due to having same electronic
configuration of last shell electrons.
Q22What do you mean
periodicity? 09208038 -
Ans. The periodic table shows repetltlon
of the properties  of elements after regular
intervals. The study of properties in a

by

sequence is called periodicity in the

propert1es of elements

mm\F\l'W

SLO Based Additional Short Qvesw
) T

\/

Q.25 Define

P

o

Q.23 Why lanthanides and actinides
are placed at the bottom of the
periodic tables? 09208038 !
Ans. In 6™ and 7™ periods, two series of
fourteen elements each have been
accommodated. Because of the space
problem these two series were placed at
the bottom of the periodic table to keep it
in a manageable and presentable form.
The first series starts after lanthanum
(La=57) and it is called lanthanides The
second series starts after actinium
(Ac=89) and it is called actinides.

Q.24 Define lanthanides. To which
period do they belong? 09208039
Ans. The elements which follow the
Lanthanum th ato ber 58 to 71

ﬁﬁ? ey belong to 6

ie of the series is based
nt named lanthanum.
actinides. To which
period do they belong? 09208040
Ans. The elements which follow the
actinium having atomic number 90 to
103 are called actinides. They belong to
7% period. The name of the series is
based upon element named actinium.
Q.26 Define normal or representative
elements. 109208041

Ans. Elements which belong to ‘s’ and

o ?

blocks are called normal or
representative  elements. . In these
elements all the inner shells are
completely filled with electrons. Only
their outermost shells are incomplete.

Q.27 Define transition elements. 09208042

Ans. Those lemen belong to
: @ ed transition
ement r d — subshells or f—

are in the process of
completion with electrons.
Q.28 Define s-block elements 09208043

g
\J \J

«%136%




Ans. Group 1 and Group 2 ¢lements have
the electronic configuration that ends at
s-subshell. Therefore, these elements 4rg
called s-block elements. O

Q.29 Define p-block ele
Ans. Elemzwa 8 (except
He) are as p-block elements
because their electronic configuration
ends at p-subshell. ‘

Q.30 Define f-block elements. 09208045

Ans. Lanthanides and actinides are
known as f-block elements since their .
valence electrons lie in f sub-shell.

Q.31 What are halogens? 09208046

. Ans. All elements in group 17 have ns’ np’
configuration in their outer shells. They
show a strong tendency to gain one
electron to become an anion. They are
called electronegative elements. These
elements are very reactive non-metals
and form salt with metals. Hence they are -
called halogens (salt forming).
Example: F,C£,Br,I
Q.32 What do you kn
elements of Gr

K

o 8047
sent in group 16
haves?,p°configuration in their outermost
shell, so they have a tendency to accept
two electrons to form a dinegative ion.

Oxygen behaves as a  strong
electronegative element.

Qg £ 28 o 00 gy

Q33. How many -elements did

Mendeleev arrange and what mistake

did he make in his periodic table?
: 09208048

Ans. Mendeleev arranged only 63
elements in his periodic table because
only these elements were discovered at
that time. He left many space vacant for
those elements which were yet to be
discovered.

Q34. How many totaD

X i 3 .
Q @%\;@g 5 retain
S angular structure. Some forms had

&

B G-

periodic table and h%
09208049 NN“\JN@ o
v s

N

$131)

—

fferent
periodic table.
the

Ans. EG. Maz |
regular

spirals circles and triangular shapes.
Similarities in the Chemical
Properties of Elements in the

Same Group

Q35. Why the elements with similar
" chemical properties placed in the same
group? _ 09208050

Ans. The chemical properties * of
elements  depend largely upon the
number of electrons present in their
outermost shells. Since in a group of the
periodic table all the elements have the
same number of electrons in the
outermost shell they are expected to

show similar chemical properts

: at u @@m group

oy ¢ aridd-tiamber? 09208051

p Number: It tells about
electrons present in the
outermost shell of an atom.
Period Number: It tells about the
number of electronic shells present in an
atom. :
B\ ariation of Periodic Properties in
Periods and Groupsji
Q37. Is atomic size always increases by

~increasing atomic numbers? 09208052

Ans. Although you might expect atoms
in become larger with the increase in
their atomic numbers, this does not
always occur because the size of atoms is
determined by the diameter of its
~ electron shells. -
Q38. Describe the trends of

electronegativity —in 2 r G ‘d and
rou C® ososs
@@e from left to right in a
dd

: reases from top to bottom
in a group. Thus the most electronegative’
atoms ‘are found at the top right-hand




~ distance between the nuclei of two

corner of the periodic table. The most
~ electronegative atoms are F, O, N and Cl.

Ans. Electrohegatiw

well-known ‘ ;
chemﬁ' g !ﬁ&;ogsﬁ () place
Q.40 fine atomic radius.

lee
example. 09208055 ;
Ans. Atomic radius is defined as half
the distance between the nuclei of two
identical bonded atoms. It is expressed in
pm(lpm=10"?m). For example, the

- bonded carbon atoms is 154 pm, Half of
this distance i.e. 77pm is therefore the

radius of carbon atom. This is also called

covalent radius of carbon atom.

Q41. Why does atomic radius of

elements i increase down the group?
09208056

Ans. The atomic radius increases fr

Reason: Because theyinc
electronic shell in a
1ve nuclear

period decre
- charg
Q42. at is the advantage of metallic

‘character of metal? 09208057
Ans. Metallic character of a metal
generally determmes its  level -of
- reactivity. :
Q.43 Why does the size of atoms
decrease in a period? 09208058
“Ans. In a period, the atomic radii
gradually decreases form left to right.
~ Because of increase of atomic number,
“the effective nuclear charge increases
gradually left to rlght due to addition of
one more proton in the nucleus of next
every atom. This increased nuclear force

towards the nucleus.
Q.44 Define ionizati
Ans. The 1omzatlon
of energy r

pulls more strongly the outermost shell @
' (

\\\\\\

- one? ]
Ans. When an electron is removed from

~pen

loosel from the

ARG

isolated gaseous

unit is kJmol™t.
energy of sodium is 496 kJmol 1.

e.g.: Na» Na* + 1e-
AH = +496 KJ/mol

Q45 Why is the 2nd

Ionization _

Ionization |

energy of an elemént higher than first

09208060

an atom, mono—positive ion is formed.
Mono-positive ion has one extra proton
than the number of electrons. 1ts nuclear
charge attracts the remaining electrons

more strongly. Hence more energy is

needed to remove second -electron. That
is why 2" LE. has greater value,

sl il ga o)

Q.46 Give the trend of ionization

energy in periodic table 09208061

reases

while

- Ans. Alon Gro £
Iom i
bottom in a group.
top to bottom in a group. OX _

Because in group more and more

shells lie between the valence shell and

nucleus reduce the electrostatic force of
attraction on valence electrons so they :
~ are taken away easily.

Along Period: =
lonization energy increases
moving from left to right in a perlod

Reason: Because in period the size of

" while

atoms reduce and valence shell electrons

~are held strongly by the electrostatlc 3

force of attraction of nucleus.

Q.47 Define electron affinity. Write :

down its unit. 09208062

Ans. The amount of energy releasedf
when an electron is added up in the
‘ ed gaseous :

outermost she ;:
m on afﬁmty of fluorine is {

fohe D Fo H =-328kJ/mol




Q.48 Why does electron affinity
decrease in a group? 09208063 :
Ans. Electron affinity decreases
. group because of increa

and shielding effect in a ﬁ m
Q.49 Why glectron— affinity
increase i 09208064

Ans. Electron affinity increases in a
period because of decrease in atomic size
from left to right in a period. - |

Q.50 What is the difference b/w first
and second electron affinities? 09208065
Ans: First eclectron affinity can be
negative, positive or zero while second
electron affinity is always positive.

Q.51 Define electronegativity. Write
the electronegativity of Nitrogen and
‘oxygen. 09208066
Ans. The ability of an atom to attract the

* shared pair of electrons towards itself in-
a molecule is called electronegativity.
Electronegativity of Nitrogen is 3.0 whileQ

that of Oxygen is 3.4. . |
| _ O\ \ra )

Q52 W, | \Ya ow about
electropositive metals/ alkali metals
and their reactivity? 09208067

Ans. All elements of group I have one
electron in their outermost shell, so they
show a strong tendency to lose their
valence electron forming cations. They
are thus known as electropositive metals.
These metals react vigorously with water
producing. hydrogen and giving alkali in
the solution. ~ :

Nag) + HO¢) —>NaOHgg) + Hagg)
Alkali metals also react with halogens
giving halides. £

Nags) + Cla—> 2NaClg)

The reactivity of alkali metals graduallyO '

increases down the group.
Q.53 What do you)

" alkaline earth metals? O%W%
STRERAT =

i~

~

. 4139%

gr@@‘b@@ms also
oth of their

Mg =>Mg* (@ +2e
Q.54 Why does reactivity of metals
increase down the groups? 09208069
Ans. The reactivity of metals increase
down the group because of increasing
atomic size and decreasing ionization
energy. As the atomic size .increases
down the group due to the addition of
shells, it becomes easy to remove
electron from the outermost shell of a
metal which causes increased reactivity
of metals. :
- Q.55 What is electropositivity?
Explain with an example. 09208070
Ans. Electropositivity is the property of

an element to readil m valence
ops-sandl |83 ive charge.
a AN l?ly electropositive

O3

\

€.2. Sodium atom can lose 1 electorn to
from a positive ion. Na ,~ Nd,+le'

- Q.56 Why does metallic character
decrease along a period and increase
in a group? : 09208071
Ans. In a period: Atomic radius of
clements decreases in a period so
removal of electron becomes more
difficult which results in decrease of -
metallic character. : : :
In a group: Atomic radius and shielding
increases down the group so removal of

* electron becomes easier which results in

increase of metallic character. ,

Q.57 What is the trend of variation

in densities of alkali metals? 09208072

"~ Ans. Densities alkali increase
: i
aterfiic masses.

ic table due
, hy aluminum and silicon are
less reactive than sodium and
magnesium? 09208073




~Ans. Aluminum and silicon are less .
reactive than sodium and magnes1um
‘This is because comparativel
number of valence ele trons

difficult to lose elect

Q.59 Whatisd
09208074

Ans. Ity a substance n a unit
volume. Density of elements generally
1ncreases from top to bottom in a group

CONSTRU

rend

—

Q.1.(Ex 4 (i)) Suppose a new element is
discovered. Where would you like to
accommodate this element. in the
periodic table: 09208075
Ans. It would be placed in the periodic
table according to its” atomic number,
which is determined by the number of
protons in its nucleus.

If the new element has similar properties to
existing elements, it would go in the sa

group.
ropertles

For example, if it b
metal, it might be p
it could be placed on

groups on the |

: s1m1larW
the right\side

- The specific location would also depend on

its electron configuration and how it

-Interacts with other elements. _

Q.2 Ex. 4 (ii)))What is the ﬁrst element of

the periodic table? Will it lose an

electron or gain it? L 09208076

Ans. The first element of the periodic table

. is hydrogen. It can either lose an electron
to achieve a stable configuration like a

metal or gain an electron to achieve a

stable configuration like a non-metal.

Q.3(Ex. 4 (iii))Atomic radii of boron and
aluminum are 88 pm and 125 pm
respectively Which  element is

T

» “amoe>
but varies less signific om left to
right i I@ ssed in g/cm?’.

?Group Elements

First group| Li | Na ‘K Rb |-Cs §
Elements | 05310971089 | 163 1.879
|density . | '

- g/em?®

CTED RE@PONSF QU EST]]ON

g

expected to lose electron or electrons
easily? 09208077
Ans. Aluminum is expected to lose
electrons more easily than boron since it
has a larger atomic radius and h1gh
shielding affect.

Q.4 (Ex. 4 (iv) How would you find the
atomic radlus of an at 9208078

Ans is typically
the distance between
auel of two bonded atoms of the

me element. This distance can be
determined experimentally using
techniques like X-ray crystallography or
calculated based on the = element's
properties. ‘
Q.5 (Ex. 4 (v))Why is it not possible for
oxygen atom to accept three electrons
to form O* ion like nitrogen which can
accept electrons to form N*? 99208079
Ans. Oxygen atom cannot accept three
electrons to form O*like nitrogen forming
N*because the electronic configuration of
oxygen (O) is 1s’2s*2p*. Oxygen typically
gains 2 electrons to achieve a stable octet
configuration, forming O
Nitrogen (N) has

an electronic :

- configuration of 1s*2s?2p*and can accept 3

electrons to complete

@ﬁaand achieve
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. In which peﬁod and group you

09208080
(a) Third peri fo
~ (Group ;

- (b) Second period and fourth A group

. When we move from left to right in a

le Choice Questions (Exerise) @@@

b ey

6. Which element is the most reactive

place the element which
important part of t

h A group

(Group 14)

(c) Third prod and fifth A group
(Group 15)

(d) Third period and su(th A group
(Group 16)

anorr

(b)3
()5

element? 09208085
(a) Oxygen (b)Chlorine
(c) Fluorine (d)Nitrogen

. Which element has the highest

melting point? 09208086
(a) Na (b) K
(c)Rb (@) Cs

. In what order does the metallic
character Change in the second

Identify the electronic group? 09208087
configuration of the outermost (a) Mg> Ca>Ba>Sr

shell of transition metal. 09208081 ; (b) Sr>Ba>Mg>Ca

(a)ns*np* (b)nd xns (c) Mg> St> Ca> Ba

(c)ns’np ~ (d)os’np’ (d) Ba> Sr> Mg>Ca e
Which is the softest metal? 09208082 Which of the follo best
(a)Na (b)Ca descrlb 0 er of
()AL . (d)Zn @ O and nitrogen’s
A yellow solid element ex1sts 09208088
allotropic forms whicl X a) 0<F<N (b) N<F<O
present in fossil fuel. (c) FRO<N (d) O<N<F

name.
(a)Carb
(c)Aluminum

_ (d) Sulphur
How many electrons can nitrogen
accept in its outermost shell?

09208084

Modern Periodic Table

period, atomic size:
(a) Increases

~ (b) Decreases
(c) First increases then decreases
(d) None of the above

09208090

SLO Based Additional MCQ’s

10. The element having less value of ionization
energy and less value of electron affinity is
likely to belong to: 09208089
(a) Group 1 (b) Group 13

~ (c) Group 16 (d)-Group 17

12. Number of periods in the periodic
table are:
(a) 8

(c) 16

09208091

(d) VIIIA




14 Which of the follomng element
belong to VIITA? 09208093 ()
(a) Na
(c)Br
15. Mam r arranged in
09208094
(a) 6 (b)7
(08 : (d) 10
16. Period number of %;Al is: 09208095
@1 (b)2
(©3 (D4

17. All the elements of Group IIA are
less reactive than alkali metals. This
is because these elements have:
09208096 -

(2) High ionization energies
(b) Relatively greater atomic sizes
(c) Similar electronic conﬁguration
(d) decreased nuclear charge

~ 18. The atomic radu

: periodic table: @
B
(b)Increase from top to bottom in a

group
(c) Do not change from left to right in a
period
(d) Decrease from top to bottom in a
group
19. 4 and 5t pened of the long form of
- Periodic Table are called: 09208098
(a) Short periods
(b) Normal periods
(¢) Long periods
(d) Very long periods ‘
Which one of the following halogens
has lowest electronegativity? 09208099
(a) Fluorine
(c) Bromine
21. Transition ele
(a) All gases

20.

esent in
@1 able? 09208101
_ (b) 10
3 (© 15 (d) 18
23. How many periods are present in
modern periodic table? 09208102
(a) 7 (b) 8
: (c) 10 {d)d2 o
24. How many elements are present in 1
period? 09208103 3
(a) 1 B2
(c) 8 (d) 18
25. How many eclements are present
 each 2"& 3" period? 09208104
(a) 2 R
. (c) 18 (d) 32
‘| 26. How many elements are present
' each 4h& 5t period? -~ 09208105
(a)2 ) 8
a (d) 32
ements are present in 6%
09208106
02 OF:
(c) 18 (d) 32
28. How many elements are present in
period? 09208107
(a)2 (b) 8
(c) 18 . (d) 23

29. How many blocks are present |
modern periodic table? 09208108
(a) 2 ®3 (©4 (@5
30. Elements are classified into fo
blocks depending upon: 095208109
(a) Shell (b) Sub-shell
(c) Atomic mass (d) Atomic number
31. The elements of group 1 and 2 are
placed in which block: 09208110

(a)s b) p 5&5 d)f :
32. Elemernts—a _ to 18 ha
@@ a electrons in subshelk:
208111 : ‘ :
(a)s ®p (©d @f

33. Which of the following elements
present in 1% period? 09208112

) All meta1101ds

R

=¢ U2y




'(a)‘ Hydfogen . 1h) Helium
(c)Botha&b  (d) None of these
34. Second and thlrd perlo ﬁre call

(a) Normal perlods
(b) ISt tranSI A Sete !
(c) 2™ ti \‘? |

iod? e

(d) 3" transition series ?:)r;r?hd' " (b) 5 S

35. Which element is present in 5 s (c) 6" @7
| i Srisonind 47. Which of the following elements is
() L (b) Beryllium present in group IA? 09208126
(C) Boron i (d).All of these o (a) HYdngCn : (b) thhlurn

36. Elements with atomic no.58 to 71 are (c) Sodium (d) All of these
Eia ] iyl ' 48. Elements of Group 1 are called:
(a) Lanthanides  (b) Actinides 09208127 ‘
(c)Botha &b  (d) None of these ~ (a) Alkali metals =

37. Lanthanides belong to period: 09208116 (b) Alkaline earth metals
(a) 4™ o3 Sl £ D el - (c) Transition metals
: TR ~ (d) Halogen

38. Elements with atomic no. 90 to 103 | 49. How many electrons ar sent in
are called: . 09208117 the vale b a ents? ;
(a) Lanthanides  (b) Actinides @) i W
(c)Botha &b  (d) Noge of the i (b)2

39. Actinides belong to peti m X : : (d) 4
(@)4® - (b) 5t ) 6 ) 50.17 group elements are known as:

40. Lanthanide\(s¢ N QUsres after the | oy Alkali

: SN ‘ : (a) Alkali metals

elemen e _"9_208"9 ' (b) Alkaline earth metals
(a) Lanthanum (b) Actinium (c) Halogens
(c)'Os.rmum (d) None of these . (d) Noble gases

41, _ﬁ:&r&n}c number of lanthanum is: | 51 17% group elements contain electrons
(a) 57 (b) 58 2n)t£l:e1r outer mos(tbs)hsell 09208130
(c) 59 (d) 60 4 :

42. Actinide series starts after the element: Q9 . - (@7

09208121 '52. The elements of group 3 to 12 are
(a) Lanthanum  (b) Actinium called: | 09208131
(c¢) Osmium (d) Silver (a) Normal elements

43. Atomic number of actinium is: 09208122 (b) Transition elements
(@) 57 (b) 60 (c) Halogens
(c) 80 (d) 89 (d) Noble gases

44, Group number tells about the: 09208123 53. All transition —ele mﬂng to:
(a) Number of valence electrons s 5@@ :

" (b) Number of shells : @2 -block

(c) Botha & b Q (d) d & fblock

: : Q)

‘ T
(d) None of the above :
45. Period W about-the: 09208124

() o f val @em -
S

46. Which period of the modern periodic
table is considered as incomplete

4. The vertical columns present in the .
periodic table are called: 09208133

VTN : — %‘143‘7%,




55. it gy
periodic table a ‘M\
~ (a) Groups

(CW & ne of these

56.

L

58.

59.

60

61.

83,

63.

- period are: 109208135
(a) 18 - (b) 10
()8 (d) 32
With the increase of atomic number,

(c) Bromi
. The
" halides is: 09208139 : :

Group
Elements of a period show
properties: 09208141
() Same (b) Differcht 2 @
(c)Botha&b O %

(a) Groups (b) Periods
(c)Botha &b  (d)None of these
The horizontal lines pres i

N elements in each normal

the number of electrons in an atom’
also: 09208136
(a) Increases

(b) Decreases -
(c) First increases then decreases
(d) None of the above

Elements of group 13 to 18 have their
valence electrons in subshell. 09208137

(a) s d)p

(c)d (d) f

Which is strongest oxidizin ‘@
09208138 QO
(a) Fluorine me

T

?tability of hydroge

(a) HF > HCl > HBr > H

(b) HF > HBr > HCl > HI
(c) HI > HBr > HCl > HF
(d) HCl > HI > HF > HBr

Which halogen member exists in a
liquid state at room temperature?

09208140
(a) Fluorine (b) Chlorine
(c) Bromine (d) Iodine
Similarities in the Chemical
Properties of Elements in the Same

5 Wem
9 @o one of these

¢ Properties in
Periods and Group
64. The amount of energy given out
when an electron is added to an atom
is called: 09208143
(a) Lattice energy
(b) Ionization energy
(c) Electronegativity
(d) Electron affinity :
65. Along the period, which one of the
following decreases: 09208144
~ (a) Atomic radius
(b) Ionization energy
(c) Electron affinity
(d) electronegativity
66. Mark the incorrect statement about
ionizatiop-energy 208145
% Vﬁ ]mol‘l
(0y LD15 ¢
) °—""(c) It decreased in a period
(d) it decreases in a group .
67. Point out the incorrect statement
about electron affinity: 09208146
(a) It is measured in kJmol™"
(b) It involves release of energy
(c) It decreases in a period
(d) It decreases in a group

68. Unit of atomic‘ size iS: 09208147
(a) nm (b) pm
(c) kjmol™? (d)Botha &b

69. The distance between the nuclei of
two carbon atoms in its elemental

form is: 09208148
(a) 150 pm (b) 152 pm
(c) 154 pm - (d) 156 pm
70. When ov to right in a
er: 09208149
) ases (b) Decreases
(c) First increases then decreases

d9208142

The elements %%
pr o

\\\\\

(d) None of the above




71.

72.

When we move from top to bottom in
a group, atomic size: 09208150
(a) Increases

(b) Decreases @)

AL

ct the
wards itself
09208158

79. The ability o t
1) s called:

| HERES

Onization energy

(c) First mcreases then (b) Electron affinity
(d) None ¢ @ (c) Electronegativity
The m amount of energy (d) Shielding effect

which is required to remove an
electron from valence shell of the

gaseous state of an atom is called:
09208151

~ (a) Ionization energy

73.

(b) Electron affinity
(c) Electronegativity

(@ Potential energy
The unit of ionization energy is:
09208152

- (a) nm and pm (b) kJmol~?*
(c) Newton (d) Pascal

74.

- (@) Increases

e

76.

T

78.

When we move top to bottom in a
group, jonization energy: 09208153

(b) decreases

(¢) No effect
aresgip980
When ove from left to rlght in a

period, ionization energy: 09208154
(a) Increases (b) Decreases

(c) No effect " (d) None of these

The first ionization energy of sodium

atom is:

(a) +496 kJmol™*
(b) —495.8 kjmol ™
(c) —490.6 kjmol~?
(d) —495.7 kJmol™*

09208155

Unit of electron affinity is: 09208156
(a) pm (b) kJmol
(c) kJjmol™t (d) Newton

Electron affinity of fluorine
kJmol 1 is: 09208157

&m\@

80 Which one of the followmg halogens
has highest electronegativity? 09208159
(a) Iodine (b) Chlorine
(c) Fluorine (d) Bromine

81. Electronegativity of oxygen is: 09208160

(a) 3.1 (b)3.3
ey 3.2 (d)3.4
82. The electronegativity of carbon is:
09208161
(a) 2.0 (b) 1.0
(c)2.5 (d)4.0
83. The first 1omzat10n energy of oxygen:
. 09208162
@ @Qxélose
(d) +1351
ionization energy of
Magnesium: 09208163
(a) +1681 (b) +737
(c) +520 (d) +419
85. The ionization energy of Potassium:
09208164
(a) +520 KJ/mol
(b) +496KJ/mol
(c) +419 KJ/mol
(d) + 403 KJ/mol
86. The electron afﬁmty of Carbon
09208165 _
(a) —71.7 {b) ~122
(c) —349 (d) —295
Metallic Character and Reactivity
87. Metals can form ions carrying
charges: : @ @@‘@2@
T\

. (a) 328 -posmve
(©) —330 (d) All of these
= F\ :

—
\JV




88. Pure alkali metal§ can be cut simply |

le

by knife but iron cannot because o
alkali metals have: . 09208 “ Q
(a) Strong metalli

~ (b) Weak metall;
(c) Nex ing
(d erate metallic bonding

89. Metals lose their electrons easnly
“ because: 09208168
(a) They are electronegativity
(b) They have electron afﬁmty
- (c) They are electropositive
(d) Good conductors of heat

90. Metals are the elements which have
09208169

(a) Electroposmve character
(b) Electronegative character
- (c)Botha &b
(d) None of the above
91. Which are good conductor of heat

and electrlclty‘? 09208170 é

(a) Metals
(b) Non-metals m
~ (c) Metalloids %m
(d) All of “
92, AHW
~(a) Positive charge
(b) Negative charge
(c)Botha & b _
(d) None of these
93. Metals possess:

~ (a) Ionic bond
(b) Covalent bond

09208171

09208172 .

W has electrons 09208173
(b) 12 (c)11 (d) 14
5. Which group of elements has low
ionization energies? 09208174
(a) Alkali Metals
(b) Alkaline Earth Metals
(c) Halogens
- (d) Noble Gases

" |96. Platinum alloyed with which metal is

used as catalyst in automobiles as

catalytic convertor? 09208175
. (a) Palladium (b) Rhodium
(c) Gold (d)Botha &b
97. Which one of the following is a
_ metal? _ 09208176
(a) Hydrogen (b) Carbon
(c) Nitrogen

Magnesium
@@({\\%ﬂmw
, (b) Platinum
(d) Lead '
The dens1ty of. sodlum is: 09208178
(a) 0.53 g/cm?
(b) 1.63 g/cm?
(c) 0.97 g/cm?
(d) 1.00 g/cm?
100. The density of Caesium is: 09208179
() 0.53 g/cm?
- (b) 1.63 g/cm3
(c) 1.879 g/cm?
(d) 1.00 g/cm®

98. The heav me

e

(c) Co-ordinate Covalent bond

O
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